
Montageanleitung

Installation Instructions
Instructions pour l´installation
Instrucciones de instalación
Instruzioni per l´installazione
Instruções de instalação
Installatie-instructies

Freewheelin´ 
Flipchart

roomours GmbH 
Senftlstraße 7   81541 München
T +49.89.890 587 10   F +49.89.890 587 25
office@roomours.de   www.roomours.de

1
2x

PH

FHS5x9
SW3

SR5



2

Links - hinten
left - back

Rechts - hinten
right - back

Links - vorne
left - front

Rechts - vorne
right - front

D8x30

SW4

SW4
RN6x15

FHS6x35

2x



Freewheelin´ 
Flipchart

3
SW4

SW4D8x30

FHS6x35
RN6x15

Links - hinten
left - back

Rechts - hinten
right - back

Links - vorne
left - front

Rechts - vorne
right - front



4

WS WS

WS WS



Freewheelin´ 
Flipchart

Links - vorne
left - front

Rechts - vorne
right - front

Rechts - hinten
right - back

5

SW132x
2x

Links - hinten
left - back

Vorne - Rolle mit Bremse
Front - Castor with wheel brake

Hinten - Rolle ohne Bremse
Back - Castor without wheel brake

SW13



6
WS

FHS5x30 FHS5x30

SW4

FHS5x30FHS5x30



Freewheelin´ 
Flipchart

7

Flipchartblock
paper pad

Abrissleiste
tear bar

Bitte Folie abziehen!
Please remove foil!



Freewheelin´ Flipchart
Montage Set, Fitting Set

Bezeichnung 
Denomination

Anzahl
Amount

Darstellung 
Image

PH Papier Haken
Paper Hook 2

FHS5x9
M5 x 9
Flachkopfschraube
Flat Headed Screw

2

SR5
M5 
Federring
Spring Ring

2

FHS6x35
M6 x 35 
Flachkopfschraube
Flat Headed Screw

4

RN6x15
M6 x 15
Rundmutter
Round Nut

4

D8x30
8 x 30
Holzdübel
Dowel

4

WS Holz Schraube
Wooden Screw 5

FHS5x30
M5 x 30
Flachkopfschraube
Flat Headed Screw

4

SW4
SW 4
Inbusschlüssel
Allen Key

2

SW3
SW 3
Inbusschlüssel
Allen Key

1

SW13
SW 13
Maulschlüssel
Jaw Wrench

1


